P ER B |4EERY-SFPREHLIEE T
FRAP AN FRE [ P ] zvm 1% 2 &

HEZFE RS

— BEBHA0M . §W25% 23 1009 - SEHBAE)OD)DEER - BPRE—ERER - 3
HE | GREARIWEREL  AARERE LR B BN EARGERS F 25 fetHaE - £H
gg | EEEH  ASEZEUTHH - DCESETEHK]

D BnmAHERSGRAEN  ALOCHEBEY  ERER TSRS, R HE, —GimE -

— ~ BEE

1. B R 986°Find »ivig R %> K?(A)66.6 (B)120 (C)298 (D)310

2. NTHE-RIRKRLEPA > PHLa?(A)Na<Ca<Br<Pd (B)Na<Br<Ca<Pd (C)Na<Ca<Pd<Br (D)
Na<Pd<Br<Ca

3. Hi&$HAIRNL 70~110g/mol- # © 5 152 & hN(R S £ 5 14.01g/mol)2 3.47 %7 0(k+ £ % 16.00g/mol) »
Blp b Sz DREAF R L 50 g/mol? (A)76.02 (B)90.03 (C)92.02 (D) 106.03

4, ##-681 %2 Li(R+ £ 5 6.941g/mol)*c » EE-k* »Plg A2 45 g #2(H RS £ 5 1.008g/mol - 0 k5 £
% 16.00g/mol)? (A)4.95 (B)9.89 (C)14.84 (D) 29.67

5. § 25 FAr3nF F 2 AGEF HF P WK LUERA?(FRA § RS £4 9 5 3206 16.00g/mol > & § i
A+ £ % 40.00g/mol) (A)F: (B)F # (C)i & 4 (D)k

6. 4R 5M Fripa-kia i e 0.AM 2 FRpe-ki3 % 050 E* TR fAA BEREE? (A)10mL £ F  (B)500mL & &
(C) 10mL =z & #g (D) 500mL =z_¥ #g,

7. £ 2M 2z NaHPOs-kiz i 1L # Na'shi #? Na(R =+ € % 23.00g/mol) (A)23 (B)46 (C)69 (D)2

8. iF %A ik & NaHPOs ki3 i 80mL 2 & 126mL 2 0.218M 1 KOH ki3 i Bl 2 NaHoPOs ki3 it 2 kB 5 5 > M?
(A)0.11 (B)0.17 (C)0.34 (D)0.45

9. THI- BRI HFAERIP? (A)2p (B)4s (C)2s (D)5d

10. A7 Ca¥ ST ~ClEgpiz i+ (A)S* < CIF < Ca** (B)CI < S* < Ca** (C)Ca* <
S < ClI (D)ca* < CI < §*

11. T e ‘ﬁ S Cushr R+ e fi? (A)[Ar]4s'3d*  (B) [Ar]4s?3d® (C) [Ar]4s!3d® (D)[Ar]4s?3d®

12. = 7| 4 2 Bond Energy .+? (A)C-C (B)C=C (C)C=C (D)N=N

13. #-MgO - Lil ~ CaS iz H §& T |2 £ 7|
(A) CaS<MgO<Lil (B)Lil<CaS<MgO (C)MgO<CaS<Lil (D)Lil<MgO < CaS

14. 7 7lie 4 5 ICls i 2_ Lewis structure?

I Cl
(A) :¢j1—|1|—¢j1: (B) Q1—|1| Q) \lll/ (D) Ci_|
u/ .\.ct ” 31 & a” -I-\,q:

15. # ’F@i*ﬁ?&‘?ﬂiﬁﬁgﬁﬁgfiL- PR HERFRNTREY
(A) absolute temperature  (B) critical temperature  (C) definite temperature (D) fluid temperature

16. wxs|7r- LR H & %R R (A) molarity  (B) molality (C) mole fraction (D) mass percent

17. 4 255mL CHzOH(% & 0.792g/mL » 4 3 £ 32g/mol)4r 387mL CHaCH,CH,OH(#% & 0.811g/mL » 4 3 £ 60g/mol)
AL P CHOH ik & 97 27 5 5> m?(A)0.63  (B)1.00 (C)2.00 (D)4.00

18, e i ER2 MBS ¥ i 02813 > £ L #1050 > $f2s 125 0@ 9F 50 2 ?
(A)3 (B)6 (C)9 (D)12

19 Aps~p AR e A7 A 27 gk Bd e F2 AgEim? (A) P (B) fA% (C) ¢ 47 &% (D) =
- 2
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fIr 2 458 2K(S)+12(s) — 2K*(aq) +217(aq) 3+ & 25°C ™ 2 standard cell potential % % > V?
K*ag) + e — K(s) E°=-2.93V
I2(s) + 2e— 2I(aq) E°= 0.54Vv
(A) 347 (B)5.32 (C)-2.39 (D)-5.32

TR AR ﬂsé FEM? (A) Zm (B) Mk (C) 25 (D) &k
1 FA-k® 100mL 7 & 10 e > Bl ok 7 AR G (A)0.01ppm  (B)0.1ppm  (C)1ppm (D) 10 ppm

T g7 4254:aCu0 + bNH3 > cCu + dH20 + eNo, ##ic i & f§ ¥t B (A) a=b+e (B)atb=c+d (C)a=d+e (D)
a+b+c=10

S L 108 REL A R T2 5 s § L3085 B AT AT RS (A)128 (B)148 (C)198
(D) 216

5 h4rdZ 01799 398K frl4latm £ F #84 109mL -2 41% = (A)Ge (B)F2 (C)Brz (D)Cl2
T A R SRS § B AR T T H? (A)BFs (B)CHs (C)NHs (D)H:O

AlbSs + 6 HyO > 2AI(OH)s + 3 HS, #-20.00g #nf 48 & 2000 k7 fis > B i F1T A F b d S 02 (Bxd
P BE bR 2F E)A T E ALS:150.17; H20 18.02 (A)14.00g (B)28.33g (C) 17.22g (D) 8.33g

TAAR &R e aE?  (A)Na<K<Rb<Cs (B) K<Na<Cs<Rb (C) Rb<K<Na<Cs (D) Na>K>Rb>Cs
T 74+ BrFs, CSy, SF4, SOst&id s+ 5 4 B?2(A)2 (B)3 (C)1 (D)4

wERBAY BpRAE AL (A) T B)pm (C) e (D) U

40 B C #-k(Kw=2.92x 10" pH &% (A)7.0 (B)6.8 (C)7.2 (D)8.4

T 5 in ¥ #1255 2 (A) CHeLi  (B) LIOH (C) CHsONa (D) CHsCOONa
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FRIAE0OF A3% mapuss (A)sp2 (B)sp (C)sp3d (D) sp3
RF BT ae Ko = 40x10% pIT Al BaE? (A)X G = (B)R F it 5 i (O &5 L% 2
(D)L frpr 4 S kR * 3 F R

i# %100 mL0.10M acetic acid(Ka = 1.8x105)p¥ » % 4c » 50 mL0.10 M NaOH 7% pH 5 ? (A)4.74 (B)5.00 (C)7.00
(D) 8.26

SFBiIA: Br# K=10 %4k & [A]=1 M- [B]I=0M» p| = e [BiE & 4 5 2 (A)O5M (B)0.76 M (C)0.91
M (D)1.0M

THE R @ —g % Disproportionation ? (A) Cl> + 2NaBr — 2NaCl + Br.  (B) 2H20. — 2H20 + 0. (C) Zn + Cu? —
ZnZ +Cu (D) 2Na + Cl. — 2NaCl

£ Fa1T CroO2 3 A E™ 22 Fe2 K Ji > 1 mol Cr.02+ % i Fe2 & mol 7 (A)3mol (B)4mol (C)5mol (D)6 mol

Mg imp ot PEHEE? (A) VA pHET B) ¥t npenigaurR i (C) 77 £ prpkdk

What is the molecular mass of Br2?  (A) 79.90 amu  (B) 2.65x 10?2 amu  (C) 159.8 amu (D) 159.8 g



